AleC D

SEP - 00121

Time Allowed : 60 Minutes] [Maximurﬁ Marks : 100

- Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
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Answer Question Nos. ( oA o Fr)
based on either the English’ T w1 % 3 % 11%‘
-passage or the Marathi passage : W amenfia oRE, FUSdA
~_An earthquake comes like a thief in . fpaT TSI SaTTater weAret Sal
~ the night, without warning. It was | ;s BT ‘ |
necessary, therefore to invent ; i
instruments that neither slumbered yRta feg dpdt St HsEIel T
Tt 3o SfTsequ] FHSISIEE

'n_gr’_sle_:pt ‘Some devices were quite
i eRen A THRRTER oSy

simple. One, for instance, consisted

of rods of various lengths and
thicknesses which would stand up on
forem a1 Sftreemen fa=an SO S

end like ninepins. When a shock
came it shook the rigid table upon
~ which these stood. If it were-gentle,

only the more unstable rods fell. If
it were severe, they all fell. Thus,
the rods by falling and by “the
direction in which they fell, recorded

for the slumbering scientist, the
strength of a shock that was too weak

to waken him and the direction from

which it cam%,But, insfruments far
more d(_a_lzi__g__ate than that were needed

if any really serious advance was to

be made.
//
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The ideal to be éimed at was to
devise an instrument that bould
record w1th a p(iI_l__gn paper the
movements, ¢ of the ground or of the
table as the quake passed by While
I write my pen moves but the paper

. keeps stll} With practice, no doubt,

I could, in time, learn to write by"‘

holding the pen still while the paper

moved. That sounds a silly

suggestion, but that was precisely

the idea adopted in some of the early

instruments (seismometers) for

recording earthquake waves, But |
‘ , 7

when table, penholder and paper are

all moving how is it possible to write |

legibly ? The key to a solution of that
prorblem lay in _én éve_ry"d_ay
observ.atior‘y ‘Why does a persoﬁ
standing in a bus or. train tend to
fall when a sudden start is made ?
It is because his feet move on' but

7
his head stays.still.
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3.

This passage says that early
instruments for measuring earth-
quakes were .............ouo... A

(A) Faulty in design _
(B-}/ Expensive

w7 Not sensitive enough
(D) Not sturdy

The author says that it was

necessary to invent instruments
to observe an
because ...................... :

(A) We have to prove that we are
techmcally sound

earthquake comes all of a
sudden like a thief

(C) It will allow us to show our
expertise

(D) ‘We have to keep ourselves busy

The earller device conswtlng of
rods was. replaced because it

M\“d" failed ............... .

(A) To measure a severe earthquake

‘}Bf To record the direction of the
=2 earthquake

(C) To measure a gentle earthquake

,/@) To record the movements with
¥ a pen on paper

earthquake -

1.
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4. The everyday observation mentioned

inthépassageisrelatedto'

.................

Li},);/The tendency of a standing
person to fall when a bus or

train moves suddenly
(B) The movement of a bus or train

(C) The Passengers standing in a

bus or train

(D)¢ The sudden start of a train

According to the passage, the

meaning of the word ‘slumber’

@(

oot i s

(A) Shock
)_%Bj/SIeep |

C) Ground

(D) \Suggestion
' According to Newcomb ......................
is not so much important in

communication cycle. | /L,EZ(,
(A) Sender

(B) Receiever

\}Q) Media

Ay |

PURY:) !

{D) Message
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(A) HEpdtEeSi T
(B) Wi e
(C) ﬂﬁn?ﬁ%@ﬁ

(D) VWefos dumiq

...............
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What is one of the following most
important factors to become
communi_cﬁt_:_i_on eﬁ'g(itive il

(A) Media

(B) Message

(C) Sender i
JD) Immediate feedback W

Supervisor in factory orders workers
and workers follows the order. 'This

.................... type of communication.

“A) Vertical

(B) Ho;izontal I)JWQ :

(C) Non-formal
(D) Distance A '0”4.\0,0.,9_0
Unattentiveness of receiver may

affect .................... ;
(A) Sender

(B) Message

(C) Media

_;@/Eﬂ'ectiveness of communication -

Programmes on the T.V. channels
sometimes mlslg_a.d.s society
DECAUSE ..vvrorrrveerierr: '

(A) Audiences are in 1121_r_ge numbers

(B) Audiences are illiterate ( mww
(C) Audience group is heterogeneous

) Difference in sender and receivers
( perception

|0 Rc

e
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AT JHTEt A et Hiowr
Y2 Hafd Hewqul sTEal ?
(A) wmMeIH
(B) &
(C) 9%
(D) @fE Femre

FRETATAE THAGTRT HTHMGA 3=
Helt 9 o HETNA Sl ¥ Gdw
TERE AR
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(A) I
(B) &fewt

(C) 3FrT=fw
(D) =

.....................
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- 12. An honest person

IA\. Consider a road map of a city having

5 approach roads from other places,
10 junctions and no internal road
has a dead-end. Every junction
except one is associated with 4 roads.
If n number of roads are associated
with the remaining junction then

which of the following values is -

impossible for n ?
A) 3 =

(B) 5

C) 6

D) 7

somehow
guaranteed to two dlﬁ'erent ‘persons

\O‘b"/ X and Y individually to handover
Qw)o")wpcomplete amount available in his

unique purse. In which way/
situation he will fulfill his assurance

given to X and Y at one and the same
time ? '

LA 1f there is no money in his purse

(B) By paying each one of them half
of the money available in the
purse '

~ (C) By paying nothing -tb\'anyone of
them

(D) In the purse the number of |
notes/coins of same amount 1is |

even

MO - mealia

12.
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o1 et e Tt F fehrmgy
2?3@1@311%3 E:ET%ﬁasaTl%ﬁ(aﬁEu%
e Sgh AT T HigH Y O

o7 3TTRd 1 Y% Ak 9’ & e
mm%ﬁn@ﬁaﬁmm
TR I n < fewd SR

B

A) 3
(B) 5

(C) 6
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(B) wdAtie WA et fed awes

feem
(C) AR HEE WhA 7 Keam
(D) = TERel wE frwden ey
X

s
~




13. Immediately after 12 o’clock at what
time duration both the minute hand

f. and the hour hand of a watch.

exactly overlap ? dod(_
(A) One hour AN .

|B)” One hour five minutes

(C) After 1 hour five rhinutes and
before one hour six minutes

D) Aﬂ;er one hour six minutes

. As the price of a book is reduced by

leo) 20%, then its consumption is

| increased -by 25%. How much

e percentage difference is there in the
previous income ?

F A) 10 \82
E 8oL
B,

RFLEee

By 20
| (C)-25
;- f\I (D) 0.
. @ The percentage profit earned by

}

.selling an item for Rs. 2120 is same
Qg P '

as the percentage loss incurred by
selling the same item for Rs. 1480

At what pnce should the item be

sold to get 20% profit ?
WA 2160
(B) 2200
(C) 2050
(D) 1900

2110
\Ygo_
— 640
a0

Lt

13.

14.

15.
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T F1e 9 fafe w1 e e ?
(A) T

(B) % 9 = fafre

(C) & o9 = fufe a 9 & a9 .
gg fafreiemiex
D) TF T W faferm

T Jehrl fama fer 20 X I
FTI T T 25%  FEl. T g
I Fel fohdll W TS ?

(A) 10

(B) 20

() 25

D) 0 .

T W 2120 % 3 e freom
YRS TH T i a5 1480 % 7 fameam

'aﬂmmﬁaﬁwmm%w
'@%7'

(A) 2160
(B) 2200
(©) 2050
(D) 1900

PT.O.
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@ Arrange thé following terms in a | 16. aéaw azf@—mﬁmmﬁﬁm
meaningful-logical order indicating 9 Eiﬁ%l'ﬂl'l:!iﬂ qEda ATSl. » r
the(correct prder. : ] 1 A '

1: Poverty C;)V\(Qp-\- 5 e
2. Population
3. g
Deat
3 4. SR
4. Unemployment '
W e g 5. 3N
Dlse se | o A v 0w
(A) 4—2—-1-5-3
cx{ 4—2—1—5—® | _ | 1
(B) 2—4—1—5—3
\}GB’)’ 2—4-1--5-@ . 44
€Y 1-5—2—4
%1_5_2 : @ -(©) -4—3
& M 5142 | D) 5—1—4—2—3
@ IfQTXLmacodemeansOPTGthen 17, R U GehareAT MR QTXL X i
in the same code what does g)ms OPTG 310 B4 3¥d, W = Gharsdl
rdiagie L_C, T
. 1 A b 7y
? - : ?
W(Tuld mean ? {/ x‘é\x'(\:n MR GKNS & FUR F1& /A
(4) ELJO s ¥ N \2 ) EJo 8T X
R X \\>\ n &b | P
(B) FIKN "\ @ FIKN OFTh
MHJN g i (C) EHIN G ke N 8
£ ‘ \@ \( \?‘ € » . :
D) FEHJ - S 0 \M (D) FEHJ
< g\'>_ @,"#‘
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18. By drinking Bornvita with water | 18, Wifegar TUTERYSR ﬁwﬁ'm .
g€ gives energy, by drinking Complan e rogreer faear e Ad. gy
SN , by drinki
C 5% with water g‘lVGS energy, by rin ng Wrﬁﬂﬂ ﬁ a m _a.a .q.'uﬂ,
w 2t milk with water gives energy. 2 : :
Therefore, by drinking water one. TR A ¥ 6 o g 2
gets energy. This is an example (A) =Tt
" . . '
Bovlenttyy
X&) Invariable relation "4’&, v (BY AT /,
(By. Fallra\c_y o (C) Wy JHII
P ti
(C¥ Perception S D)
& (D) Comparison |
.Whlch of the following is/are the | 19. Wefel fauri=n smm TEAdeh! v
conclusion/s based on the R Bf?:lﬂ -
statements given below ? ' :
v Statement I : All birds are Whlte faam 1 : wd vt ‘1133: .
“ Statement II ; All t. birds.
¥ . parrofs arebirds. | e I W u
G Conclusion 1 : Some birds are
@ it , g 2O, frepd 1 : w0 vl W A
Conclusion 2 X Some parrots are frepd 2 : T U9 TR 3R
prd  vRte ¥ | e 3 ;v 9w fed ae
= Conclusion_3 : All parrots are |- , ‘
£ Pt Pread 4 : F@ Wl wR T
Conclusion 4 : Some birds are not T i~ Mwupc
white. % > Tinne 1%°
Codes : @ (A) 1 anfor 2 W
WI and 23nly : (B) 1 anfor 3 wed
1 : \
(ﬁ)land’“ny (C) 2 f 3 e
(® 2 and ¥ only
) & and 4 only (D) 3 3o 4 e
11 [P.T.O.




20. Which of the following diagrams

the correct relati i
shows the rect relationship

among the three terms — Athletes,

Cem——

Women, Mothers ?

SEP - 00121/1—B
20. @reficas ot ot fedien dH
gt e9Y ader graad ?

dafms @arg, o, A
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Directions : e

uestion numbers 21 and 22 )
b | Uy wuTh 21 AT 22 U

are based on the following

diagram : Titat 2 M.
The following is a diagram of a T e T fafire weifaemeanda

certain college showing the number

- Il 7 el fammeafsht 2012 & 2015
of students passed and failed during
the years 2012 to 2015 : . 1 YA ARSIR r@fdere 3R
- 1000+ . | % 1000
9001 3
~800¢ 300
E g 700+ 109 g)- 0
BP. 604 i é
Z fg 1 500 1 [wl,s EA
o 500 . /7'/ %
g 300+ ‘ Z The. é é
'8 N1
0 : g =] - Years (a9)
2012 2013 2014 2015
[ Failed (373xiio) G;E;; ¥\ 60
/ Passed (30i) P A 1) 40 K& ‘
: % !

13 E [PT.0.
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21-. In which year is the percentage of | 21, iU gufged 3ol g femteatat

wf passing of students maximum ? TFHIN Fald S 378 7
(A) 2012 - (A) 2012 |
(B) 2013 - (B) 2013
(C) 2014 (C) 2014
\4’25/2015 (D) 2015

ﬁ. The percentage of passing of | 22. 2012 d 2015 =1 wd aufHt ThH AT
students in examination for all the Ta8d I BAvgrE eFRad T _

years 2012 to 2015 combined AR,
together is ..................... ;

(A) 50 ' (A) 50
B) 5714 - (B) 57.14
u@/af) ; (C) 60
D) 70 R D) 70

~23. Arithmetic mean of 12 observations | 23. 12 fAdsome wftrd 7= 40 e,:n%r ICXIG
is 40. The smallest and the largest R Forary W 20 3T|'ﬁJT

observations are 20 andfﬁ,()
respectively. If we ignore the smallest [ 60 USRI q HE

and the largest observations then the ﬁﬂaﬁta‘ﬂa?—ﬁ W Naten Frigo= wftra

arithmetic mean of the remaining -

observat,io%, ...................... : L e .
(A) will increase UoR (L (4) WA
B) wi w be) ¢
) will decrease ‘ﬁ%__@? (B) wd
ill not change - . 2\ Ol 1o
: b (C) SR A

(D) cannot be obtained due to : '
insufficient data (D) -G WS Hed AR AR
14




Directions :

Question numbers 24 and 25
are based on the following

information :

& Out of 80 players 35 play cricket, 42
s 'K\{ play hockey, 25 play football 8 play

Z" both cricket and hockey, 10 play
both cncket and football, 7 play both

L4
dﬁ‘.&)w hockey and football 3 play all the

T three games.

@ How many players are playing only

SEP.- 00121/1—B

L} SR L

2.

UYT wHiE 24 ATUT 25 ¥ YA
iftdfter emenfia amd : |

80 E=gHI 35 e Baam, 42
m@m,zm@a@m,éa@
fihehe 9 At Baaw, 10 A7 fwehe
9 gl Ve, 7 A B 9 sl
Yo, 3 §6 fal Thie O T,

e m‘qm Tl BBl

one game ? BIedl e et ?

i cae\g .

‘__i/j_\_ (A) 102 &/ ucwx 2 (A) 102
BB o ‘?'@ (B) 80

§C) 61 go - ,@//\,\; (C) 61 A
(D) 63 ' - /(g}/O (D) 63

@ How many players play exactly two 25, T OF WERE V@ Q@I &

games ? " ' fedt ?

a) 19 60 (4) 19 -
®6 “<cC| (B) 61
(©) 80 32 (C) 80
«D) 16 €% | - (D) 16

T 15

. il
/—

[P.T.0.




Which of the following is the correct

full form of ERNET ?

(A) Entertainment and
Recreational Network \
(B) Entertainment and

Refreshment Network

(C) Educational Reference Network

Mucational and Research
) : L

Network

27.) Who helped Late Prime Minister

Rajiv Gandhi in revolutionizing

—————

India’s telecon‘l‘;ngl_iggﬁon policy ?

(A) Nandan Nilekani pUNEES
LB) Sam Pitroda

(C) G. Parthasarathi
‘ (D) A. RaJa DE

Which among the following is
basically an instant messenger ?

(A) Fagebook jupege 22

~ (B) Instagram :
(C) Twitter

&D) WhatsApp PPN

SEP - 00121/1—B
26. ERNET o1 v/l 44 Senam fereai
“qeleient hior ? |
(A) Teeie st RfFwere Yead
(B) tediz sfe fobwiie Yok
(C) T Y e
D W?Fla stz fgd Jead
_ .(A)»:ia*-{ freieroft ]
(B) ¥ firer .
(© homwA

27.

(b) T I

e 7 sy 3
(A) w‘mgas

(B) ==mm™

(C) fa=

D) =gty

28.

16



e 2020
29. ‘Sarathi’is the web portal of

(A) Ministry of Civil Aviation

(B) Ministry of Women and Child

* Development

\Wnistry of Road Transport and
Highways '

T \ (D) Ministry of Rural Development

@ ‘BYOD’ in the content of digital
initiatives in highg:_‘_ education in

India is ................... =

(A) Be Youthful On" Digital
(8 Buy: Your Owa Pévice
éC) Bring Yg Own Device :
(D) Be Yourself On ‘Digi‘tal'

@ Presence of E.coli in water is an
L —N

ok indicator of ................ . contamination.
e  ASwenR
nAA) Sewage
(B) Oil

((?f Pesticide

(D) Herbicide

Sodar

SEP - 00121/I—B

29. ‘Wrell’ ¥ qdeE WO Wehaee
a2 4
(A) WWWW
- ® ufgen anfor s fae W™ |
(C) T reqF o T T
(D) ¥ fawm 93

30. YRadle =4 fagw danda fefaea
TR disd=dl ggafd ‘BYOD’

(A) ot guge 17 fefoea
(B) ¥ 3R AA fe=rmy
R E T gy w—
D) g s fefee
31. UAME E.coli WA T Ui §

[PT.O.
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@ During day time, noise pollution

33.

in residential_area should no
eXCEEA .vovverrrinenranens
(A) 75 dB
\(B¥x85 dB
«) 65 dB
(D) 80 dB

To regulate and control the

transboundary movement of

hazardous waste is also known

A8 asessisarsssnearalans .

[/ A
AT Basel convention

(B) CITES

(C) Ramsar convention

(D) Wetland convention

=

‘ There are number of Acts in India

- -to prevent and control of pollution.

One of the following Act is known

as ‘Comprehensive/Umbrella Act’ ?

(A) Air. Pollution Act
.(B) Water Pollution Act

[
.&Cf _Environrnent (Protection) Act

(D) Liability Act

@

33.

%

SEP - 00121/I—B

% wmmwﬁmm@

WWW@WW%
(A) 75 dB
(B) 55 dB

(C) 65 dB

(D) 80 dB

IF 0 TR e e g

I : '

(A) e TR

(B) CITES

(C) TmER s |

(D) aels iR

A T AR @ frafa

el ‘agETd TESA wERl R
Ee .

(A) @1 TGO

(B) ST WguU HA

() e (%) HE

(D) TSGR HIAS]

18
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@ How many goals have been set for | 35. wifss 3 anfdes fammamact 'g’-lm
sustainable development by UN to | Ao Yvaa fasrarare! fandt £ afaett
achieve social and economical e 2
development ? ,TOIW

— €00 5> Ay (a) 20
= (B) 17

BT 17
(C) 10 (C) 10
D) 16 (D) 16

Which of the following universities

_36.

was the centre of military education
—_— . —
during Vedic period ?
A Takshashila W
(B) Nalanda
(Q) Gunsheela
. (DY Kundinpur

37.) ‘Minimum period for Ph.D should be
of (two years and there should be
viva-voce examination for Ph.D

degree’. This recommendation was

made by ........ccoenninenn L

(A) Indian University Commission
(B) Sadler Commission

WO Radhakrishnan Commission

(D) Kothari Commission

36. @TeieiEt F fagardts, dfw
| wrEeme, el g %3 3 2

(A) ‘aawﬂ?ﬂ |
(B) R
(©) Tt
©) e
37, ‘Wee-d. eEraRd fRe w9
TuTEl T F WEUEER dret g

. [P.T.O.



—(89.) Nomenclature of education
pHRD—~  department_of India has been | e AT B Al 2
Nﬂ) changed to -Hgman lResourc.:i N@ﬁ
3 Development in the year ...... Mo 20 _
' | ads (A) 1975
(A) 1975 5 .
ke it B) 1986
WS BF 1986 MHRD  MoE~ WP (B)
(C) 1995 (©) 1995 i
(D) 2005 (D) 2005
40. Which of the foliowing'institutions 40, @refetst S m I=9 mm

\ ducation
C

Teacher education i8 .....coocoiiiin ;

(A) Professional education

—

(B)r Vocational education

(C). Tg_ch_nic_e_\l education

is(not funding for research activities

et

in higher education ?

SEP - 00121/1—B
a8, s foam g 2.
(A) EAIE finagm
(B) ¥ foa™
() difaw fonam

TS fraRas wda T ?

. 4ADBT an;mj?\ " (A) DBT.
DSt Pt (B) DST
(B) DST e : |
(C) ICSSR__ (C) ICSSR
(D) NCTE

(D) NCTE =3 M
g 20



@ Understandin_g;_ level of teaching

—-_—

includes .......cccceeve . —__**_"
# Memory X RoRL |eaecd kﬂg,\
(i) Aptitude -~ ’ R
v o
i) Insight > Mo (U\deﬂ‘&k
—  SwWi|

_(iv) Creativity __3{{%(9 vy
(&) K and Gi) o
LBy @) and (i)
© X and (@) ' i
D) (i) and o)

The most

of a humaﬂ'being TR ke y

preem————

tellectually Yerti

g period

(A) Childhood Ve .
(B) Adolescence

(& Adulthood g,\.pr‘,\Q D l p

‘Online Discussion Fc_irum’ of
SWAYAM is for ... #4285.... |
s = =5l

_dA) Clearing the doubts
(B) Self-assessment

(C) Watching video lectures

(D) Downloading reading material

SEP - 00121/I—B

(A) (0) =mfor (ii)
(B) (i) 3nfor (iii)

" (C) () afor (i)

D) (i) 3T (v)

42, wrETSN SEAE ale aifsw

. (D) 98 _
43. SWAYAM =1 st feerym wre’

esesberRIRItIEN IR
.

21

[P.T.O.




| ‘ History -be taught by

WBING ..cocusssisnyilisrivees

Wig‘ital charts
(B)/Maalgs=

JQ Demo:Etration method
(D)»Role play method

@ Absolute and relat:lve grading are
................... gradmg
(A) Indirect -
(B) Direct “QKeU—

-
(C)Y Spegal

(D) Stanjard‘ s

46. mquahty for a

researcher i I8 e /s
(A), Punctuality
(B) Intelligence 3
‘fé) Genuin\e/interest in research
(D) Mastery _over own subject .
@ Recording of ‘reflective_potes’ ‘in

qualitative research is called |

(A) Coding
(B) Memoing

'{6 Decoding
(D) Instructing

U3-q

45.

46.

47.

SEP - 00121/1—B

---------------------

-----------

............

(D) @@= fawaEda gy«

ToTTeeR W ettt fen e it

T:E'{‘l?fw ....... et A R mw

(A) Wiehfaeitu (Coding)

(B) fequr FT@® (Memoing)
(C) fiwmefamid™ (Decoding):
(D) ¥=7 F (Instructing)

22
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@ .A-ygﬁable Academic Achievement’ | 48, ‘Rufors <’ ¥ =
7 il be measi_ll‘ej;}.’n ...... ———— N | ofleR Aiee e
(A) Nominal ‘ ; 4 . (A) iR L -
Bl | C ® Aw |
(C) Ratiox - (O) ’I"ﬁﬂ " :
o) Ordinal Compam®y | D) WA

49. Ifa frequenf:);i_istribution has some | 49. SR ARETRET fRRoTeY T A Wi
) extreme scores then appropriate | st W Hf wgwR A wiE -

measure of central tendency T T o

——————

il be .38 Cysivsiennes A
' (A) Mean b .,

v/ £ i At 2 (B) weAlh
Me‘di’an hi el ‘ “ _

B et O TR
¥ ,,(D) Range wmm Y -(D) f?mr{\
Y 50. A research: paper is _-_b‘asedv 50. F&ﬁﬂ’l@'@ (Research paper) ="
on...'.'.'.; St ..., o S _ EITWHT&EI Q.
() Primarydata et () wafrw wfedt (data)
(@) Secondary data Jep i) T
(i) Descriptive data (i) ot AR
“(A) Only () A @A) BB )
®) Only G) L ® P )
im/(i) and (i) ©) @) anfor Gi)
/ (D) (ii) and Gid) /- D) Gi) sufn Gy




